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1. Andrea's mom gave 6911 plums to take to school. Andrea gave 323 plums to her friends.
How many plums are left over?

=

2. Albert has 424 fewer apples than Alexa. Alexa has 7508 apples. How many apples does
Albert have?

=

3. Alisa has 6565 goats. 478 of the goats are gray and the rest are brown. How many of her
goats are brown?

=

4. Logan has 589 kiwis. Darren has 8556 kiwis. How many more kiwis does Darren have than
Logan?

=

5. Trina has 727 bananas. Alisa has 5778 bananas. How many fewer bananas does Trina
have than Alisa?

=

6. 1866 pears are on the table. 492 of them are purple and the rest are gold. How many pears
are gold?

=

Name:______________________________ Date:____ /____ / 2025     Start:____________   End:____________
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7. 5176 pears are on the table. 874 of them are purple and the rest are gold. How many
pears are gold?

=

8. Anh has 933 cherries. Nathan has 6579 cherries. How many fewer cherries does Anh have
than Nathan?

=

9. Sabrina has 980 kiwis. Jordan has 3680 kiwis. How many more kiwis does Jordan have
than Sabrina?

=

10. 3116 pears are on the table. 111 of them are blue and the rest are yellow. How many
pears are yellow?

=

11. Yuri's mom gave 6365 kiwis to take to school. Yuri gave 685 kiwis to his friends. How many
kiwis are left over?

=

12. Calvin has 3633 cows. 558 of the cows are black and the rest are brown. How many of his
cows are brown?

=

Name:______________________________ Date:____ /____ / 2025     Start:____________   End:____________
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Page 17
6588

7084

6087

7967

5051

1374

Page 18
4302

5646

2700

3005

5680

3075
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